A F B ITHE R F

2% % B 06-C00083

K 7k R AL

it 4 06 PR KEEREEE (F01)
J& AT S5 BT A IRTTTAET - R N

iy 2L REETTE e B IX N OPEK IS R L
REREAE LS, 300m ANBEE?2, 300 HWIERE 15, 000m /K
FEREL 1, 00O0nt EEEHR 18, 300

REALSY 6. 89 t

ANFL B 4m 64 6A268 HWH S £ H H

B M af % A H ~ &f 64128 9B ( HRE
YR A REGE

BKIOF T

fer (Bir) M (O HIHER )
TEMEE Bith) A&LL

Hos X E AW AALCF 1 1mD) | AL (55 2 81 | FUAE (55 1[0 | AR (55 2[00 | 4 2%

(Bk) A5 4, 000, 000 TR
B A RS (FR) Ui
B A e () 4,100, 000] 3, 650, 000

— b () 3,700,000] 3,400, 000 VErL
(BR) Yo a—fktidx =38
Kirgtax (BR) 4, 050, 000 THR
(Bk) mfEna g 4, 200, 000 3, 680, 000

(f7) HR R FE
(F) &I 4, 400, 000 =3
B 11 18 [ FaE
() V—7 R FEESE)
M AwEdER () 15, 000, 000 LR

X EREOBRAIL, HEBLOCHGHEBHLYEHZZ ERWEHTH D,
KT EMNIE 2 FRIAR LI AFLICH - TiE. ALEEIT 1 BIE 720 £,




A F B T & B &

K & 5 06-C00084
K BBABEF AL
7 % 06 HEERPEKEEREES (20 2)
& AT Y% AT TR AR - B IR RN
i 2 IR ek B XN OHEK B R AL

SREGAEAE 9, 000m AJIBRE (BMAD 4, 700m HMERE4, 300

m EEEW 9, 000Nt

PREALLY 3. 55t
ANF H 4fm 64 6H268 KA Sf 4 H H
WM af £ A A ~ &f 64128 98 ( HRED
YA BEGE
LRIOFF T
BRI eKE (BliA) M (5 BIEEFRL M)
MM (Bith) AFRRL

B 5 XX 4 B AFLCE1TED | AFLCEE 2D |RECGE 1D | REGE 20D | =

(Bk) AEERE 3, 500, 000
LA R () B el
B A atex () 2, 500, 000 V&KL
=W (FR) B el
(Fk) o o —fpHnidax FER
RKariax (BR) 3, 120, 000
(Bk) =fEnsa g 3, 100, 000
() HATEEER Rk
() HEHpd 3, 100, 000
B 1 Rk
(F) V—7 A FEIR
=R pEd S () 15, 000, 000

* LRLOSFHIL,

HEBLOCHIGHEBH LY ZZ ER VSR TH D,
KT EMNIE 2 FRIAR LI AFLICH - TiE. ALEEIT 1 BIE 720 £,




A F B ITHE R F

K & 5 06-C00081
K BBABEF AL
7 % R 6 R AAE D 5 N X EDS
& AT % T e A AR (A TSR PY)
HE 2o XY RZ 1, 500K
ANF H 4fm 64 6H268 KA Sf 4 H H
WM af % H H ~ &f 64104318 ( AR
fH Y 5 4 BTHETEGRE
LRIOFF T
R e5E (BliA) M (9 HIEEFR M)
MM (Bith) AFRRL

P XX 4 B AFLEE 1 ED | AALCE2ED | RAECGE 1) [ RFEEGEE 20D | WM =
(Bk) AEERE 7, 500, 000 TR
(B I Ex&RE A 8, 000, 000 TR
() AbkEE IR
() St 7, 700, 000 TR
(Fk) o o —fpHnidax FER
(BR) ks s AR 7, 100, 000 6, 800, 000 KL
() HEHpd 8, 300, 000 =3
e A7) 7, 000, 000
Bk —= 8, 150, 000 TR
B 17 & = 7, 600, 000 7, 000, 000
7 Rk (BK) 8, 100, 000 7,010, 000

X EREOBRAIL, HEBLOCHGHEBHLYEHZZ ERWEHTH D,
KT EMNIE 2 FRIAR LI AFLICH - TiE. ALEEIT 1 BIE 720 £,




